paraiiel Lines & Transversdais

iF TwO PARALLEL Ines are cut by a transversd, then.

¢ Each pair of corresponding angles is congruent
e Each pair of alternate interior angles is congruent.
¢ Each pair of alternate exterior angles is congruent.

e Each pair of consecutive interior angles is supplementary.

And recall from Unit 1, vertical angles are always congruent
and a linear pair is always supplementary.

{So If we know one angie measure, then we can £ind them all}

Given m«1 = 65°, find the measure of each missing angle. Give your reasoning.
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Given m«6 = 142°, find the measure of each missing angle. Give your reasoning.
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Given m«5 = 82°, find the measure of each missing angle.
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Example 4 | Given m«£12=121° and m«é = 75°, find the measure of each missing angle.
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Given m«7 = 38° and m«£10 = 102°, find the measure of each missing angle.
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Example 6 | Given m£2 = 41°, m«5 = 94°, and m«£10 = 109°, find the measure of each missing angle.
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c msa= Q" |fms= 30"
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